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+ T ¥ & &£ E*R
@ @ ©) @ ®
Bk it Ak Bl Ak Wik |BERRE RS
BHE |
DIP ¢ 100 DIP ¢ 100 DIP ¢ 100 VP ¢ 100 VP ¢ 100 = |:|+
DP=1.2m DP=1.2m DP=1.2m | DP=1.2m | DP=1.2m
Hyg 397 | BgE 39K | HEjE 397 | HuE 39K | HEijE 397
EAERR BT T t=5cm m| 427.1 10.1 25.8 6.0 454.6 | 923.6 920
A R U T
0.20BH t=10cmLL F | nf| 138.8 3.3 8.4 2.3 136.4 | 289.2 290
FEARAE I T 0.20BH m| 134.6 4.2 10.7 3.4 170.9 323.8 320
HET (%E+) 0.20BH m 2.6 2.6 3
HERT 34 1+) 0.20BH m| 85.1 3.0 7.7 126.8 | 222.6 220
¥y T B+ m| 40.0 0.9 2.1 3.4 30.0 76.4 76
Ay T AS m| 6.9 0.2 0.4 0.1 6.8 14.4 14
FHAEDLA A
T R T t=19cm m| 138.8 3.3 8.4 2.3 136.4 | 289.2 289
PRI
g T t=15cm ni| 138.8 3.3 8.4 2.3 136.4 | 289.2 289
AR T A
F*JE T (HaA) t=5cm PK3 m| 138.8 3.3 8.4 2.3 136.4 289.2 289




IERAERT R

Fe| T 4 m;ﬁ ”‘iw E R & 3
O | EAKE g 394 DIP ¢ 100 0.90 213.54
@ | FEKE HE 397 DIP ¢ 100 1.20 5.06
©) Bk & HE 394 DIP ¢ 100 1.20 12.91
@ | AWKk HiE 397! VP ¢ 100 1.20 1.50
® |BEsREMEL|  dHE 397 VP ¢ 100 1.20 227.3




+TEHHEE
HBE 397
LTINS

DIP ¢ 100mm DP=0.9m

R B DIP ¢ 100 FpgdmE. 097 m
AR 005 m MR 063 m A+
EIFOEE 0.100 m BAaE 019 m  FEK
BHOMER 0.118 m BAZ 015 m  FJERE
RS PRHINE 065 m AS 0.05 m
PRI 213.54 213.54 m
EEE R W T
t=b5cm 213.54 2 = 427.1 m
AAERREEE T
As t=10cmPLF 213.54 0.65 = 138.8 m
RSB ) T
0.65 0.97 ) X 213.54 = 134.6 m'
WRT (B4
0.65 0.63 - 0.118 2
X
n = 4 ) X 213.54 = 85.1 m'
vy T(RAE L) FrE A
134.6 85.1 - 0.9 = 40.0 m
¥y T.(AS)
138.8 0.05 = 6.9 m'
T JE AR T
FAYAME t=19cm 213.54 0.65 = 138.8 nf
RC-40
E T
FARIFRA t=15cm 213.54 0.65 = 138.8 mt
RM-40
F=E T
FAEBRIET 23 t=5cm 213.54 0.65 = 138.8 mi

PK—3




+TEHHEE
HBE 397
LTINS

DIP ¢ 100mm DP=1.2m

R B DIP ¢ 100 FebgymE  1.27 m
AR 005 m MR 093 m A+
EIFOEE 0.100 m BAaE 019 m  FEK
BHOMER 0.118 m BAZ 015 m  FJERE
RS PRHINE 065 m AS 0.05 m
PEHIIE R 5.06 5.06
EEE R W T
t=5cm 5.06 2 = 10.1
AAERREEE T
As t=10cmPL F 5.06 0.65 = 3.3
Fm AR T
0.65 1.27 ) X 5.06 = 4.2
WRT (B4
0.65 0.93 - 0.118 2
X
7 + 4 ) X 5.06 = 3.0
vy T(RAE L) FrE A
4.2 3.0 - 0.9 = 0.9
¥y T.(AS)
3.3 0.05 = 0.2
T JE AR T
FAEYIAA t=19cm 5.06 0.65 = 3.3
RC-40
A T
FARFMNG t=15cm 5.06 0.65 = 3.3
RM-40
*E T
BRI ET 23 t=5cm 5.06 0.65 = 3.3

PK—3




+TEHHEE
HBE 397
LTINS

DIP ¢ 100mm DP=1.2m

TR R DIP ¢ 100 m
AR 0.05 m m e+
EIFOEE 0.100 m m  FJE
EOE 0.118 m m _E
RS PRHINE 065 m m
PEHIIE R 12.91 12.91
EEE R W T
t=b5cm 12.91 X 2 25.8
AAERREEE T
As t=10cmPLF 12.91 X 0.65 8.4
RSB ) T
12.91 X 0.65 10.7
WRT (84T
0.65 X 0.93
X T 7.7
s TEEAT) e+
10.7 - 7.7 2.1
¥y T.(AS)
8.4 X 0.05 0.4
T BT
FAYARE t=19cm 12.91 X 0.65 8.4
RC-40
e AT
BARFHA t=15cm 12.91 X 0.65 8.4
RM-40
FE T
PRI EET A3 t=5cm 12.91 X 0.65 8.4

PK—3




+TEHHEE
HjE 397
AWK VT

VP ¢ 100mm DP=1.2m

AR VP ¢ 100 MRS 152 m
AR 005 m Mebgds 118 m  holkt R+
EIFOEE 0.100 m BAaE 019 m  FEK
BHOMER 0.114 m BAZ 015 m  FJERE
RS PRHINE 150 m AS 0.05 m
PRI 1.50 1.50
EEE R W T
t=b5cm 1.50 4 = 6.0
AAERREEE T
As t=10cmPLF 1.50 1.50 = 2.3
RSB ) T
1.50 1.52 - 0.114 2
7 - X 1.50 = 3.4
HERT Rk E+)
1.50 1.18 - 0.114 2
7 + X 1.50 = 2.6
vy T84 +)
= 3.4
¥y T.(AS)
2.3 0.05 = 0.1
T JE AR T
FAYAME t=19cm 1.50 1.50 = 2.3
RC-40
A T
FARFMNG t=15cm 1.50 1.50 = 2.3
RM-40
F=E T
FAEBRIET 23 t=5cm 1.50 1.50 = 2.3

PK—3




+ TR E
HBE 397
WERR & s

VP ¢ 100mm DP=1.2m

R B VP ¢ 100 FebgymE  1.27 m
AR 005 m MR 093 m A+
EIFOEE 0.100 m BAaE 019 m  FEK
EOE 0.114 m BAE 015 m FJEE
RS PRHINE 060 m AS 0.05 m
PEHIIE R 211.30 + 16.00 227.30
EEE R W T
t=b5cm 227.30 X 2 = 454.6
AAERREEE T
As t=10cmPLF 227.30 X 0.60 = 136.4
RSB ) T
0.60 X 1.27 - 0.114 2
X 7 =~ 4 ) X 227.30 = 170.9
WRT (B4
227.30 X 0.60 X 0.930 = 126.8
s TEEAT) e+
170.9 - 1268 =+ 0.9 = 30.0
¥y T.(AS)
136.4 X 0.05 = 6.8
T BT
FAYARE t=19cm 227.30 X 0.60 = 136.4
RC-40
e AT
AR A t=15cm 227.30 X 0.60 = 136.4
RM-40
FE T
PRI EET A3 t=5cm 227.30 X 0.60 = 136.4

PK—3




&M & E =
(BEEIEE2. 00m LA T) 7L KM EH=2. 00m ($#H#%+200mm)
AWABITFERE 108Y%7% Y 285 (LEMIXER)
RIRAE W = 0.333 m H = 2.000 m t = 0.040 m
e Uit W = 0115 m H = 2.000 m t = 0080 m
BIRM L = 1500 m — ( 0040 m + 008 m ) X 2 = 1.260
TR FARJE gk LS
1 HfE T & = 2.0 fEF/H
FEHH = MR ~ 1AETE
= L0 f&fT + 2.0 f&FT/A = 1
3 (R TR S L (MR HAATT - T4 - 55 hP239)
GIAER = 1 H X 1.76 = 2
RRASPEE 4 = 2
TN RERE (M EH=2. 00m)
el A = WTHER X AY%EomTER B+ Y720 OF
= 1.50 m X 1 @& = 0.333 = 5 ({11
A 5 M x 2= 10 #&
2EFTNEW T DIERE (RETMH ~}es") NAS-PBEY
PN EN = f R X KRE X RREE
= 10 X 2. 00 X 0.0057 = 0.114 t
KRRk (BEF A O R R RAFEARE) X RARIE R X 5 R
BRI p 819 - FEFEEL p 297
= ( 2 B X 19 m/m-n + 240 FM/m ) X 2.00m X 10
O  RE#ER = 5,560 M
RMER (RESE) - JEE LH/E80mm
fit A% = i TIER fEE Lt
= 1,50 m <+ 2.00 = 1 A (i) (B0
1 A X 2 X 1 = 2 AKX 1 f§
MG LOIRM SR = SURTEAAS X 1AM EE X ftAAK
ARl p 819 - BT EL p 297
I L&k = 2 AR X 33 wxken X 2 H = 132 M
YRR = 2 A X 110 ma-n X 2 H = 40 H
KIERY TR = 1 B X 164 mm-n X 2 A = 308 M
SCURM S RLE = 132 + 440 + 308 = 880
SARM FEAKL 500 F/A X 2+ 500 /A X 2+ 50 MH/A X 1= 2,500 M
O X#MERE#H = 880 + 2,500 = 3,380 M
3. RERM DOFEWEITHOVWT
(RT M —Mgn)™) NAS-HC2
fEHE U B = 2 A X 0.01506 t /A = 0.030 t
(HERT A ~Mns™) NAS-120
Gk = 2 A X 00145 t/A&K = 0.029 t
ERERSE = ZKfERE + EELMERE + UEMER
0.114  + 0. 030 + 0.029 = 0.173 t




B

No. TE# R e T EiFT 3k MIEREmM | REEHE) [ZRMERED)| EHEHE) | BEE® 5%
1 FIVERIRE H=2.0 1 1.5 5,560 3,380 8,940 0.173
&t 5,560 3,380 8,940 0.173

H#&E:2&m/H

ERRRAM IR

EiRM

W=0.333m H=2.00m t=0.04m

REHELM

W=0.115m H=2.00m t=0.08m

WEZ

L=

1260 m




L= il
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BlKEME
GX# ¢ 100mm

wo#E L B & OB | B I
E g B T ¢ 100 227.7 m
o ® b W T ¢ 100 19 H
% = T EE ¢ 100 57 N
1% = T RIEE ¢ 100 21 =
% = T GU>7 ¢ 100 13 i
% = T PU>7 ¢ 100 2 i
89 # & B L ¢ 100 9 H
A ERE L A, 15 10 & AT
Mok & OB OBE L B 1 & AT
ook o &R OBE L B 3 & T
7 7 v ¥ F L 675 8 i
Ly vay MRy ) AR E L MIZ35 4 il
A = v fF F L gk E e 2 H
A= F L K¢k DIPH 3 i
A= v Mk FE L | F#E SP,VPH 3 H
N A A - VP ¢ 100 1 H
W or 7 — 7 L ¢ 100 296.4 m
® W oor vy — kT 225.1 m
B8k & B W T ¢ 100 2 i
wove & 4 W L ¢ 100 4 i
T < /) I T ¢ 100 2 H
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sk R

7o

S el

AT L AR

ol EKZ iy & 5% B LFE TERTTE SRR E FATFE f EHIEST s MDA Wk WHARE | HkFE ke
oy N . . . . . . 675% | o100 | e100x | 6150x | 675x | o100x )
% N o) ; 45 22° 1/2| 11 1/4 45 22° 1/2|  H300 H450 e 075 5100 100 75 075 75%150 | 75%400 | 754200 | 75%200 i i 500690 | 500X 690
GX ¢ 100 47 2 1 2 2 2 2 4 3 1 3 1 3 1 1 3 2
10 57
7t 47 10 57 2 1 2 2 0 2 0 2 0 4 3 1 3 1 3 1 1 3 2
s STk AR L | e il B
- . N 2 5 . . sk | VY7 | EITTE | wee | omew -
[ EK e FE A FAF Gl P £ gt HEERY—b
B AL B4 L=m/A| BB DIPf VPH VP ¢ 100 VE (2)17%0 DIP ¢ 150
GX ¢ 100 7 2 10 10 10 21 21 13 2 2 \{e=>27a 1
2
VC
1 15 225.1
= 0 7 2 10 10 10 21 21 13 2 2
f:81F | RUXFE] Hkie HEAK TR ) _ - ENC ENUVS s ~
iz o _ . . R Bt ] i | ooy | WY A=RVEF: oA wr | oo | REERE | o | e | g | PR |
A 1 AT T | s | Gurs | PULy g | 2V mgr | BEL S FRORLY ST S T | e | SF | e
A 15 T wE | 5 vpsioo | vPeTs BT T 7 7 YT
71 SRt N ¢ X $75 | DIP¢ 150
GX ¢ 100 227.722 21 13 2 9 10 1 3 8 4 3 2 1
3 2 2 1
19 57 296.4 225.1
1 1
1
Z 227.7 19 57 21 13 2 9 10 1 3 8 4 3 5 1 296.4 225.1 2 4 2




MERE

GX ¢ 100mm 8 HI IE R 213.545
DP=0.9m BRI & 210.735
75 £ B ¥ MRHE & B & JE R
IR & GX% 4.000 46 184.000
H =l B GX& 2.300 1 2.300
H ] H GX& 1.730 1 1.730
H 4 H GX% 3.250 1 3.250
H bl B GX& 1.780 1 1.780
H 4] H GX% 2.540 1 2.540
H b H GX& 1.280 1 1.280
H 4l H GX& 1.000 1 1.000
H 7l H GX% 2.120 1 2.120
o g7 N ) GX%& 1.000 1 1.000
o wom ) GX& 1.000 1 1.000
o g o' M) GX% 1.800 1 1.800
o wooEm M) GX& 1.200 1 1.200
i H 11 1/4° 0.360 2 0.720
Z == & H=300 0.730 2 1.460
F o T % & | ¢100X¢75 0.440 3 1.320
Z2 VA I ¢ 75X 150L 3
i fE | 0D 2
RS bR e 1
e T X W Ok & B 2
AT L AR 2 ke H 1
15 X ES | ¢500%x690H 1 (Fate)
HE 7K Sin % | ¢500X690H 2 € =xa)
-~ = T F & | ¢$100X ¢ 100 0.590 2 1.180
B F M F VC ¢ 100 0.011 1 0.011
BOHEE AT (e A VC ¢ 100 0.081 2 0.162
Y 7 b= v A8 A | AL ¢ 100 0.490 5 2.450
V7 kY — AR | W ¢ 100 0.180 2 0.360
ft. o 7 & JE 5 |H=510~690mml|| @ H 7
% = il B s 13
% = gl i FAF 0.029 18 0.522
B &) il i GUr 7 7
B = il B N/ 0.180 2 0.360
e i g | DIPA ¢ 100 2




FEHRE

GXJ% ¢ 100mm I T 5.059
DP=1.2m® B A S e 5.059
2zl E Bl 1% FEHE & ¥ & IE R
H ) & GX& 1.680 1 1.680
< o' ) GX& 0.890 1 0.890
oo woEm o) GX® 1.680 1 1.680
] = i & 45° 0.160 1 0.160
i H 45° 0.420 1 0.420
ik o ¢ 100 0.200 1 0.200
1 & il it RIpAE 2
1 = Hh fil FA4F 0.029 1 0.029

o
o
Emkk
Eo

GU»7 3




FFHRE

GXJ ¢ 100mm I T 12.908
DP=1.2m® B A RE R 11.928
.z} ¥t B 1% MBHE & ¥ & I R
B 1 GXE 4.000 1 4.000
H 4 & GX%& 1.820 1 1.820
aoowoEm ) GX%& 2.340 1 2.340
oo woEm o) GX%& 1.000 2 2.000
i =g 22° 1/2 0.380 1 0.380
i & 45° 0.420 1 0.420
] =< il 1 45° 0.160 1 0.160
ik i ¢ 100 0.200 1 0.200
Y 7 b — v AR 8 A | ZHL ¢ 100 0.490 2 0.980
8w Ff & - E A [H=510~690mm| A 5l 2
F & 1T =F 7 ¢ 100X ¢ 75 0.440 1 0.440
P2 R I 2 ¢ 75X 400L 1
i f | 0D 1
# ™ X W ok & B 1
HE K i % | ¢500Xx690H 1 (Fate)
Ko ok N L T VP ¢ 100 1
®OM B Mk F VC ¢ 100 0.110 1 0.110
B = il fif RIGE 6
% =) gl il TAF 0.029 2 0.058
B = il fif GU> o 3




g g W E GXJ ¢ 100mm L=4.0m/A

)% O O CANE () PRE Gk
1 2.300 0.890 Z 0.810 2
2 1.680 1.680 Z 0.640 2
3 1.730 1.000 Z 1.270 2
4 3.250 Z 0.750 1
5 1.780 1.800 Z 0.420 2
6 2.540 1.200 Z 0.260 2
7 1.280 2.340 Z 0.380 2
8 1.000 1.000 Z 2.000 2
9 2.120 1.000 Z 0.880 2
10 1.820 1.000 Z 1.180 2
At 19




HER—MEHR

B £t ¢ 100mm 2
EARIE R 227.722
oKk E 4

0.664
I kB E 225.066 | 225.066 |
BRI 225.1 0.0 | 225.1 |
HRERT—7TREHR
w s ¢ 75mm ¢ 100mm =
JEL E 47
) H 10
Mo K 296.4 296.4
1AKH 7Y 4.7 5.2
& EF fE 0 14.82 15

%:/20m
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WMEEE
VP ¢ 50mm* ¢ 100mm

| L B #% o B | B
WMEEHETFHEAL VP ¢ 50 46.7 m
WmEEmHETFHEAL VP ¢ 100 2217.3 m
it % & B W LT VP ¢ 50 13 i
e = & 4 W T VP ¢ 100 66 i
e x B E W & 4t 1L=25kmLL F [l
= F o 4y & 3.3 nf




N N A _EL% YA
T THEFTEE BKE)



TR R

@ @)
GoKE Hok )
&t | %
¢ 20~ ¢ 50| ¢ 20~ ¢ 50
HiE 398 | bFE
AHEEAR BB T t=5cm 128.0 128.0 130
EfLERR B T

0.20BH t=10cmPL 38.4 38.4 38

ki T 0.20BH 32.6 44.8 77.4 80

HEHI T A 1.8 1.8 2

HRET @R T) 0.20BH 9.8 12.7 22.5 23

HRTGLELD) 0.20BH 9.6 16.9 26.5 27

R T (84 T) AN 1.8 0.0 1.8 2

ey T »4E+ 21.9 26.0 47.9 48

AT AS 1.9 1.9 2
HAYNARER

TR T t=19cm 38.4 38.4 38
FATLAEA

TERET t=20cm 49.8 49.8 50
AR AR

T t=15cm 38.4 38.4 38
FEAR R

b E AT t=10cm 49.8 49.8 50

FAEBRET Aa
FJB T (HE) t=5cm PK3 38.4 38.4 38




IS S =S

i B

F9| T CA — I & 3
mEES

©) KK HjH HIVP ¢ 20~ ¢ 50 64.00

® HAKE ENES HIVP ¢ 20~ ¢ 50 83.00




T ITEEE
HiE 3974
faKE
HIVP ¢ 20~ ¢ 50mm DP=0.9m
ANJTHRE - D RL (1 FTdh7=0) &1k (0.5%1.0%0.9=0.45m)

@ P 1k (0.5%1.0%0.3=0.1517)
FEFR . HIVP ¢ 20~ ¢ 50 MRS 0.85 m
EiZERRE 0.05 m R 026 2m poRe B -
BIFUEE 0.060 m B E 025 m e+
RS EHME 0.060 m BAE 019 m FERE
PRI & 0.60 m BaE 015 m  FERE
AS 0.05 m
PEHIIE R 64.00 64.0
ElidE R T
t=5cm 64.00 X 2 = 128.0
ElALE R R T
As t=10cmPL T 64.00 X 0.60 = 38.4
e
64.00 X 0.60 X 0.85 = 32.6
NI4T z & T %] &P
0.45 X 3 + 0.15 X 3
= 1.8
HRET (&Rt
( 0.60 X 0.26 - 0.060 2
X o = 4 ) X 64.00 = 9.8
HMET (B4
64.00 X 0.60 X 0.25 = 9.6
ANDBERET (B4+)
1.8
A A55 T.(58 4 1) Y
32.6 9.6 - 0.9 = 21.9
¥R A5y T(AS)
38.40 X 0.05 = 1.9
TR T
FHAEYBARA t=19cm 64.00 X 0.60 = 38.4
RC-40
LEgET
FHARIFIRA t=15cm 64.00 X 0.60 = 38.4
RM-40
FET
PRI ET 23 t=5cm 64.00 X 0.60 = 38.4
PK—3




+TEHEE
N

K E

HIVP ¢ 20~ ¢ 50mm

DP=0.9m

NS A - D R (L& RTdHT=0)

.1k (0.5%1.0%0.9=0.45n7)

@ P 1k (0.5%1.0%0.3=0.15n7)
FEFR . HIVP ¢ 20~ ¢ 50 FEMAEE 0.90 m
EiZERRE 0.05 m R 026 2m poRe B -
BIFUEE 0.060 m BeEE 034 m e+
RS EHME 0.060 m BAE 020 m FERE
PRI & 0.60 m B 010 m FERE
PEHIIE R 83.00 83.0 m
Hhs PR 1 T
83.00 X 0.60 X 0.90 = 44.8 m
NI4T z =B %] (&30
0.45 X 0 + 0.15 X 0
= 0.0 m
HRET (&Rt
0.60 X 0.26 - 0.060 2
X 7 = 4) X 83.00 = 12.7 m'
HERET 3£+ ,
83.00 X 0.60 X 0.34 = 16.9 m
ANDBERET (B4E+)
0.0 m
F55 T.(58 4 1) 4+ (
44.8 - 169 = 0.9 = 26.0 m
T T
HAEYBARA t=20cm 83.00 X 0.60 = 49.8 i
RC-40
LERAET
HAERIFIA t=10cm 83.00 X 0.60 = 49.8 i
RM-40







& L H K ¥ B 47
EE Y =V EM & LT 613 2.0 m
B E Y =V EM & LT ¢ 20 109 m
WA = L E AR L ¢ 25 13 m
WA = VAL ¢ 30 5.8 m
8 Ak e = L AR L ¢ 40 0 m
WE Y = L ERHR L ¢ 50 46.8 m
ANV S /N - =- V.N HIVP ¢ 50X ¢ 20 3 AT
ANV S /N - =- V.N HIVP ¢ 50X ¢ 25 1 AT
ANV S B/ - =- V.N DIP ¢ 100X ¢ 20 17 AT
A NV A N/ O N = V. DIP ¢ 100X ¢ 25 5 &R
A N N N = = V. DIP ¢ 100 X ¢ 30 1 &5
PR L4y ok R g AT DIP ¢ 100 X ¢ 40 0 &5
PR L4y ok KA T DIP ¢ 100 X ¢ 50 1 &5
= 7B A T ¢ 20~ ¢ 50 24 &R
=K B W T ® 20 5 T
koK & R O I ¢ 50 2 fiE T
® ok & W T o 13 2 f&IET
® ok & W O T $20 3 f&IET
ok o ow L ¢ 13 3 AT
oKk B W T ¢ 20 15 & T
ok o owow L ¢ 25 3 AT
oKk B W LT ¢ 30 1 f&ipT
¥ W oor v — b T 161.6 m




Mok



BERR e ZAEDHFET A—B—FT SVET
BRIk
22 0 5 0
¢ 13 620 ¢ 25 30
(Hl\ﬁ?ﬁi:/j 2.00 109.00 13.00 5.80
JVHETFAL ) 40 $50
0.00 46.80
Fa KA LR R R
e Hirk o BT
H I v P o 1 4?/0 *
¢ 20 25 99.0
¢ 25 3 10.0
¢ 30 2 5
) 0 0
¢ 50 12 46
H I Y % v F e ; 7
¢ 20 16
¢ 25 0
$ 30 0
¢ 40 0
¢ 50 11
H [ = 1 & e ; T
620 39
¢ 25 0
$ 30 0
¢ 40 0
$ 50 4




YT LaE LIE

iz ke e -
H I % v v 7 613 0 ’
¢ 20 20
25 6
630 1
¢ 40 0
¢ 50 1
HI & &Y 7 v} 20X ¢ 13 2 !
25X ¢ 13 0
$ 30X ¢ 25 0
50X ¢ 40 0
HARTF Y MEA—4—=2= 7
F v 613 4
¢ 20 6
625 0
630 0
¢ 40 0
¢ 50 0
AR S T ¢ 530 20 hmE
¢ 25 6
0.8m/A<
¢ 30 1
¢ 40 0
¢ 50 1
Z 1k K i3 550 5 7
® 25 0
1k ko R E PVCHL ¢ 100X H500~700mm 5 !
kB 6 100 X H500~700mm 0




YT LaE LIE

iz ke e -
FHRLY 7 b — AL g1 5 PN 0 7
¢ 40 0
¢ 50 2
S % 3 NET 2 ’
HaEH 0
A 0
R C JEE = EREi] 2 7
A — X — K v 7 R b 13 2 7
$ 20 3
® 25 0
¢ 30 0
¢ 40 0
¢ 50 0
W Ik K Fa SE 2 7
$ 20 3
$ 25 0
¢ 30 0
¢ 40 0
¢ 50 0
LA S S S S HIVP ¢ 50X 20 3 !
HIVP ¢ 50 X 25 1
DIP ¢ 100 X 20 17
DIP ¢ 100 X 25 5
DIP ¢ 100 X 30 1
DIP ¢ 100 X 40 0
DIP ¢ 100X 50 1
® # Y & v b $ 65X ¢ 50 1 /7
Mokt T F T E - ¢ 65 1 i
Ny ML) AR O R & 7
i !
HE~ v 709 7 oy b 550 1 i
H ~X v F 45 ° 650 1 7
H = ) & 45 ° 550 4 7
O i i5em 161.6 N




HAREMH—5R

s o vkt | e | G | HIVRE | HIVRG) | vroh e | w7 | meveos | 2200 | TR | ciie | G50 [T mikie | JERIE svie e | TR W b | T T | T
H YR ik
it b4 B b AEXFAR | B | B | m Afg | m [SKE m PR | | PR R R s xR | R R | | g | ) R | | ngR | | R | | ngR | | e | s R | s Rk %% Tk Tt R[S P s |
@ 13 BERAE 100X 20 1 20 | 1.0 20 1.0 20 1 20 1
®@ 20 BERAE 100X 20 1 20 | 1.0 20 1.0 20 1 20 1
® 20 BERAEE 100X 20 1 20 | 1.0 20 1.0 20 1 20 1
@ 20 BRI 100X 20 1 20 | 1.0 20 1.0 20 1 20 1
® 20 BERAE 100X 25 1 25 | 1.0 25 1.0 25 1 25 1
® 20 BERAE 100X 20 1 20 | 1.0 20 1.0 20 1 20 1
@ 20 BERAE 100X 25 1 25 | 1.0 25 1.0 25 1 25 1
20 | A=H—FET | 100X20 1 20 | 1.0 20 3.0 [ 20 | 20 20 6.0 20| 4 | 20| 8 |2 |1 20 2 |2 | 1 |2 | 1 |2 | 1|2 | 1]2]1
©) 20 BER AL 100X 25 1 25 | 1.0 25 1.0 25 1 25 1
13 BERL 100X 20 1 20 | 1.0 20 1.0 20 1 20 1
() 20 LRkt 100X 20 1 20 | 1.0 20 1.0 20 1 20 1
@ 13 BERHL 100X 20 1 20 | 3.0 20 3.0 20 1 20 1
® 20 BER L 100X 20 1 20 | 3.0 20 3.0 20 1 20 1
13 | A=#—FT | 100%20 1 20 | 6.0 20 | 1.0 20 7.0 20| 2 | 20| 6 | 20| 1 20| 1|2 | 1|2 | 1
13| 1.0 13 1.0 13 1 [ 13| 2 2013 [ 1 [ 13 | 2 B3 1| 1|1
®» 20 BRI 100X 20 1 20 | 3.0 20 3.0 20 1 20 1
20 BRI 100X 20 1 20 | 3.0 20 3.0 20 1 20 1
@@ 20 BRI 100X 20 1 20 | 3.0 20 3.0 20 1 20 1
20 BRI 100X 20 1 20 | 3.0 20 3.0 20 1 20 1
20 BRI 100X 20 1 20 | 3.0 20 3.0 20 1 20 1
25 BRI 100X 25 1 25 | 3.0 25 3.0 25 1 25 1
@ 25 BERHE 100X 25 1 25 | 3.0 25 3.0 25 | 1 25 | 1
@ 13 | A=&—FT | 100%20 1 20 | 14.0 20 | 1.0 20 15.0 20| 2 | 20| 6 | 20| 1 20 | 1|2 | 1|2 | 1
13| 10 13 1.0 13 1|13 2 2013 [ 1 [ 13 | 2 13 1| 1|1
@ 50 100X 50 1 50 | 1.0 50 | 45.0 50 46.0 50 | 11| 50 | 4 | 50 | 1 50 | 1 50 | 2 | GE| 2 2 1 1 1 50 [ 1| 50 | 1
20 | A=Z—FT | 50X20 1 20 L0 | 20 | 4.0 20 5.0 20| 4 | 20| 8 | 20| 1 20 2 |2 | 1 |2 | 1 |2 | 1|2 | 1]2]1
25 BERsE 50 X 25 1 25 1.0 25 1.0 25 | 1 25 | 1
20 R 50X 20 1 20 1.0 20 1.0 20 | 1 20 | 1
20 | A=H—FT | 50X20 1 20 | 320 | 20 | 5.0 20 37.0 20| 4 | 20| 11| 20| 1 20 2 |2 | 1 |2 | 1 |2 [ 1|2 | 1]2 ]| 1 20 | 4
@ 30 R 100X 30 1 30 | 5.0 30 5.0 30 | 1 30 | 1




HAREMH—5R

. HIVP HIVP } . xRy CfE A= —Ry HHIL 7 HI HINUR | HImWR
N N v R A N - . o U A N N k A 2
A " YRR (H38) Gesiis) HIVP(R) | HIVP(&K) Vi Fyo JEE (PVC [SHLV/S £ i 7ok | a5 15
H SR FE
%
=N AR X HEIK N [REE3 m R m 2| Mk 7% [SEES % [EFE3 7 n R [BEES ngs AR | fEs | ng SEEN (P
HIVPRES (si8) | ©20~ 64.0
¢ 50
HIVPIEE GRéfizs) | #20~ 83.0
L i 28 50 3.
DT " $ 20~ = .
HIVPIE R (EEHi) 550 15.0 50X 20
TLXTTME | 020~ -
N . X . .

EE (d31) 550 14.6 50X 25 13 | 2.0 13 2.0 2 13 13 13 13 13 0
+ TR 176.6 100 X 20 20 20 | 37.0 | 20 | 13.0 20 99.0 16 20 20 20 20 20 20 20 20 4
BERR Bz 22 100 X 25 5 25 25 1.0 25 0.0 25 10.0 0 25 25 25 25 25 25 25 25 0

CAED E TR 0 100X 30 30 30 0.0 30 | 0.0 30 5.0 0 30 30 30 30 30 30 30 30 30 0

Ah—FTHR 5 100X 40 40 40 0.0 40 | 0.0 40 0.0 0 40 40 40 40 40 40 40 40 40 0
SVETH R 0 100X 50 50 50 | 45.0 | 50 | 0.0 50 46.0 11 50 50 50 50 50 50 50 50 50 0

FRKEYEE T 13 3T

FaKE B T 20 1587

Fa /KB T 25 3T

FaAKE VR T 30 L& T

FKEYEE T 40 (UETR

FaK BT T 50 Of&i T it it # | 83.0 g | 15.0 7t 162.0 § 29 # it i it it 5 7t i it it it it 4
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3cm 0.078 0.0000
4cm 0.104 0.0000
S5cm 0.130 1051.6 1.3670
bcm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
llecm 0.262 0.0000
15cm 0.350 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000
i 1051.6 1.3670

EXe 1.37




